S e

e 124 7

T 124 SR
R T T R PR R SR 451 0D — B g 1
R #ER RSB O — 5 2 R IET D RFIZIRD L HIZED D,
ASF034FE 2 H10 B 42
Bk Ak XA
B igp (F5)
REIE T R IR S 0 — T % S IE 3 5 5451
REEE TR IR SR (L1 24E 3 ARSI 4B H2T5) O—i%
WD X HIHIET B,
FAZT S 2HEE] & M 3EENLA S FEE TOR
R IZek, RSE 1B 118,600 % 119,500 | 2k,
A48 2 5 126,040 ) % 27,300/ ) (2iksd, RIKFHE 3 Sh T
44,640 ) 7z 146,800 ] (2, FZRH 4 ZH 166,960 Z |
70,200/ (2D, [FSE 5 5F 174,400/ ) % 78,000 2Lk
. FIZE 6 5h [79,600) % 83,460 (ICihd, FSKE 7 5
H1 181,840/ ) % 185,800 2thsd, [FIZRE 8 5H 194, 480 |
% 199,060 | 2k, [FIZHE 95 115,320 H) % [120,900
M cted, RSEFEL0EF 125,730 ) A 131,820 M) 2tk
. ARSI [145,820 ) % 152,880 M) 12tk [RAISEH12
o 1169,630 ) & (177,840 M) (cded, [RIZEH135H 1193,
440 1 % 1202,800 My (Zdesd, FIZHF145H 208,320 ) %=
[218,400 [ 2k, [RSEFE15EH 223,200 ) % [ 234,000
M2tk 5,
56 K5 1 HOEKH
[

89



1,860M 1, 860
2, 6401 2, 600
4, 500 4, 460
6, 7501 6, 690
7, 440 7,440
7, 9601 7,960
8, 2201 8, 180
9, 5201 9, 440
11, 55014 11, 5304
12, 6004 12, 57014
14, 6004 14, 5801
16, 9901 16, 9601
19, 38014 19, 3401
20, 850 20, 830/
22,3204 22, 320
1,950 1,950
2, 7304 2, 7301
4, 680 4, 680
7,020 7,020
7, 800 7, 800




S e

e 124 7

8, 4001 8, 3401

8, 580 8, 580

9, 960 9, 9001
12, 0901 12, 09014
13, 2001 13, 180
15, 3601 15, 2801
17, 8201 17, 7801
20, 280 20, 280
21, 840 21, 840
23, 4004 23, 4009

]
22 %,
S Hf
(MEATHI H)

1 ZOZFNE, BM3FE4H 1 BLLHTT D,

(R E)
2 M2 FEICRT D IREEER K OB O PR O RN HERIC D
WL, RBIERTOBNZ L 5

e il EE
B SEEN LB 5 EEF TOREREIZBIT HRERRLZ ED
51 RRIET AR R S O —E 2 S E LI- WD TIRET 5,

M

91



=
BEMNTERKRSEH ()
B WIEZR
B B AT
BBk )
N AN AN iR S it
aE) =3
WDOEFZIZHTH2HE 1 SFHEREOR DI ZNENY
WWED DR E T 5,
Ao S 5 1 TH A g S 19,500 M
SHEILE 1HE 1L SICBHT »H 18600 T
Ao & M 1 TH A g~ s 27,300 M
S HEILE 1HE 2 ZICBH T HE 26, 040 1]
L smoag L 5 1 TH A 3 B |- . 46,800 [
THLHE 1HE I FICHIT LOE 44,640 ]
Ao S 5 1 TH A g S 70,200 M
S HEILE 1HE 4B T HH 66, 960 1]
PN &1 1G g s _78,000 M
S HEI9LE 1 HE S SFICB T HE T4 400 1]
. \ R b I B 83,460 [1
WD WT NI EY T 5 H 79,600 T
(7 Kk QN4 A4 W)
\ R 85,800 [
WDWT NI HEYR T HHE 81,840
(7 kO A E 1)
. g s 99, 060 [1
WD WFT NI EY T 5 H 94, 480 1]
(7 & QN4 A1)
\ R 120,900 4
WD WT NI EY T 5H 115,320 1
(7 QA 4 W)
\ R 131,820 4
WDWT NNIZTEYR T DHHE 195,730 H
(7 kO A & 1)
. g s 152, 880 [1]
WD WFT NI EY T 5 HE 145 820 T
(7 & QN4 A1)
\ R 177,840 4
WDOWT NI EY T 5 H 169,630 [

92



Ny =

mes 124 75

(7 kA 4 W)

) e NI 202, 800
B woOoWFNNITEZEY T 5 HE 03 440 [

(7 M OV A 4 W)

. - - 24 218, 400 H
D L e ﬁ?‘ <0, tVV 1]
W & TNMNICHEY T HH 508. 320 [

(7 kYA & W)

B N - BETEINR 234, 000 H
15 =R Y % 720 Lo - L
(I B & & THRICHLEY LR WnE 223, 200

(% @ B R 2 45 o & BB AT R

6% HMBMOBRBRBOMMEIT., T ZhAKOEICH T D HEL
T 5,

6 H DT B 37

W E oMM

BAZRELHICHELT HH %%%% %%%%
BARE 25T oF %ﬁ%% %ﬁ%%
BASE 3 TICHYT oH %%%% i%%%
4G A IR B # P T
B 4G5 BTN T HH % %
BAKE 6 TN T %ﬁ%% %%%%
BARE T BIHST 5E T S im0
BASRE S TICHY T oH %%%% %%%%
AR O BCHS T HH i1 Bso 15008
BAFREIOFITEYT D %%%% 5%%%

93



4 RIS T B 15, 36071 15, 28074
14, 60011 14, 58011

e 17, 82011 17, 78011
AP A P P EE——

> 16, 99011 16, 96011

1~ 2l 20, 2801 20, 2801
AR BT 5 20, 2808 20, 2808
- s 19, 38011 19, 34011
P 21, 84001 21, 84001
20, 850/ 20, 830/

e s 23, 400/ 23, 400/
4LEISFICHY T AE s —— 1= s —— 1=
i 22, 32011 22, 32011






